0002322907767999

&0 LEEEXE 060>

201646 13071 HE 25 1 @
Btk
1 | KOBRID 2 ST it % 2 s MY A B % A &

(D a bAKBETE. a2 9ITHLLIRY, b2 ITHB L 5RS.
6
(i)a+bx9TH1 SORYIF Th5.
(ii) ab% 9TH-1L T0RVIE [2 'Chs.
(iil) a2 +52 % 9 CHor L *0AVE [ 3 e s.
/
(2) 2 DDEH1364 & 279 D A AFEUIE |I]3*c-a%
(3) |I+2|+|1’—5| =9 DML x = — - | 5 | Fklr= E THb.
(4) H¥ ’&JJ\%{’CEEL 7o F, NS 50 uo):ﬁmi 7] ’C&bé
4

] = r % ' :
(D a=qm+1, b=9n+5 (M. ni3BEH) e5<, @ 0.94.5945 ...

(i) atb=qm+{+qn+5 : 3T ) 350
- : 733
=9 (mt+n)+é . _—
( £ /70
.-.ﬁij,;e 3 /?-6’
2020
Gi) ab=(Im+1)(9n+5) : 183
: 350
= gImnt45m+9n+4h 333
= 9(¢mntEm+n)th "':70
S RYEE 35 2 i
RIEE, T =0.945

2 2 = 2 2
Gi) @%b = (Imr1)+ (Fn15) WE 1129, A E gz 4,

= #Imiri8ml +8I0" Jon+ 25  AREsraas, A ERE 4518 1% 5,
=9I zmenieont2) 8 Gy Faq@ 9, JBEF For 4
ﬁ'}f&'? “

(2) (364 =2%11-31, 2719= 3% 31
HT. G517, 31 (2-79,F0EPREE 3L B3)

@) ) X<~2 kT ~F-2~x25=Y
VR2X=—4 X=-3F

HEE X284

(ii) “22X2hbme¥ xX+2-2+5=9
=9 ~Hiul

Gi) X>FEmeS, x+p b - &Y

= b MBS FEHRT
(i).Gi), Gi) o). X==3 Fr:iF X=4

4/




